RIS (F65RBHR)
(RftxtREBEA)

Sf 64 4H 1H

BFTEESHE
fn mv% BB

LURA  HEFEHS
B4 N B E 9
4705 FERBEHRIEREI DT

BIRF TR BB TE IR O He B 5 AP E0AB I EOH I £S5 . Bl
DL D AT 5 EEREERRIN TS B RL L% T




IR

1 I»

A

PRSEE BBEBHRNIREE

= Ik 4 BRI
% B 4 /NEF IEB]

H H

R A #®| " =

HBEHR (A)

484y : 40,000, _E3:#7 : 200, 000
. 480,000 fH T34 : 240, 000

2

H (E=)

H H

X (X% #8 " =

IR R

0

wmoE R’

0

S B R

0

- RBHMERE

0

= -#® ®

480,000 , P [TBCHEAEEIRI, S

REEAR

B R

0

A &

0

FDMDORE

0

=)

&t (B)

M
M
M
!
M
0 H
M
M
=
J,P?

480, 000

E EEMICIX, E-sNRERM®T I L,

3 & M (REH

B B GEBRE)

O{P% (A) — (B)




BRI S (F65BHER)

(Zftx & AR)
BHTEBR IR 2 R4 HECHTB:
& 4 AN IEW]
[&Fn54EE]
MR (& | B )
[ " B2l Loyt el gt "
nn : B 1] P WA rin " ) FE W #i i MO e P8t Vi iz
i Gt | & g | TR | oamr PO | omwe R ol | At | zom

4/10 BUISIGINTESEN SO (4 5)) 40,000 40,000

5/31 [ 80 U5 oy R 200,000 240,000

10/10 BTN TSy 240,000 180,000

= XEF il i=-] % 7
721 | 1 .’z'agg ;mﬂ B Lt 108,860{90.7% / 98,736)" 381,264 98,736
L HIBIATE  ilTBCHUS Y FIBITR
830 | 2 |oiiia 85,800[90.7% 77,820 303,444 77,820
PR 3 pTee TS /

10/20 | 3 ggg g on W A |07.96‘§I89.IS / 96,194 207,250 96,194

10/20 | 4 |EBUR FIBGKSE il AIRIFS 55.77'()_[%9.15 / 19,69y 157,559 49,69

i | g (GRS TORREE R no.ssg:lsd.n / 93,64 63,918 93,641

15 | o [N SEPRER ST T ' wesofsrrs /| 63918 0 63,918

Bt 180,000 547,599}/ 480,000)" 0 0 0 0 of 480,000 0 0 0 0




